Puysics 151 TEST 4 Name:

(a.) The engine of a train is pulling three cars A, B, and C. Explain why, as a physics
student, you would say that the following statement is false: “The train’s engine is

exerting a force on car B”. (3pts) ,% (RKSD ?
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(b.) A crate is made to slide to the right by
applying a pulling force at the 30° angle

shown. If the pulling force is not large

enough to lift the crate off the floor, is 30

the normal force acting on the crate bigger,

smaller, or equal to the crate’s weight?
Explain your answer. (Spts)
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(c.) A 25-kg crate is pulled to the right by a P = 75 N pulling force. If the coefficient of
kinetic friction between the create and the floor is 0.3, what is the crate’s acceleration?
Assume any drag force on the crate is negligible. (4pts )
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